ATV Honda Rincon

Material: Steel

X X
& &
’V‘\ ’V‘\
HaumeHoBaHue SawmTa Komnnektauus »* 'b‘ AN .‘éb‘ AN
Mnowaaka 401602 2 x bont M8x20 . V . V
nop nebeaky ' 2 x bont M10x30 M8 = 24 Nm M10 = 47 Nm
14 x Wanb6a 8
4 x lan6a 10
12 x lanika 8
2 x ["anka 10

M8x20

M10x30 l

190020r.ClN6 Ha6.06BoAaHOrO KaHana A. 150 ren: (812) 495-95-49, 335-05-25



	Страница 1

